Efficiency vs P,

1

0.8

0.6

0.4

0.2

- Ed
L =
e

107 1

10 10? 10°

fake+d

uplicates vs P,

0.8

0.1

% SRR VRN S
1 S FNNE S -
S SRS F S S
Y S PN, S
% S S N

02

—— DQM_TT__mkFit_

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/runrem/DQM_TT__mkFit_

0.8

0.6

0.4

0.2

Vs

0.95

3 2 -1 0 1 2 3

Efficiency vs ¢

il

0.8

0.6

0.4

T LIS

0.95

0.2
0.18
0.16
0.14
0.12

0.1

0,08 -+ -+ g™ Pt £
108 50 S N S
T ST s
0.02:— """ """" """" """"

10

1.

1.05F

=
T

0.95




	Contents
	Page 1


